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public class Pokemon {
public String name;

public int level;

public Pokemon(String name, int level) { LQ—\}C\ = \-CD Q
this.name = name;
this.level = level;

public static void maﬁ(String[] args) { - K_Q-\].ei "/’/\_;.’61_ 56

Pokemon p = new Pokemon("Pikachu", 17);

int level = 100;

change evel);

System.out.println("Name: " + p.name + ", Level: " + 1);

’ pele = leuel = V&

public static void change(Pokemon poke, int level) {
— —
poke.level = level;
) level = 50;
poke = new Pokemon("Gengar", 1); ~ L P O
) Nawe @ @T tan e
}

(a) What would Java display?

(b) Draw the box-and-pointer diagram after Java evaluates the main method.

1 line 19, we set level equal to 50. What level do we mean? An instance
Ariable of the Pokemon class? The local variable containing the parameter to
the change method? The local variable in the main method? Something else?
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2 Scope, Pass-by-Value, Static Q

2 Static Methods and Variables CC\" aq= (ot (Mt « preo”
ublic class Cat { -
p public String name; z SV\GKe_d b“k‘ CQ{' B - qu( GéLl (g (&ﬂ(\\)
public static String noise; on Q
’ @0’% Q. nahe

public Cat(String name, String noise) {
this.name = name; ( —

this \oise = noise;

} .
£nrs N N3
public void play() { 77
System.out.println(noise + " I'm " + name + " the cat!");
—
3

public static void anger() { S'%CLH-Q M@H\OCX_S
, noise = noise.toUpperCase(); \\V\ ! \]QCA Cgi_ thsj

public static void calm() {

noismoise.toLowerCase(); e\( . CQ:& .-QV\C}Z(( \

}
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2 Scope, Pass-by-Value, Static

2 Static Methods and Variables
public class Cat { _J\B‘.l-_. _> Cat

public String name; \> noise: lw

public static String noise; (“‘N'ja"u— —_ N

public Cat(String name, String noise)w b A Cc\t
this.name = name; T \)
this.noise = noise; r“aCAY\ : T(A.W
}
S~ —

public void play() { CO'T’@Q}GCS

System.out.println(noise + " I'm " + name + " the cat!");

public static void anger() {

noise = noise.toUpperCase();

}
public static void calm() {
noise = noise.tolLowerCase();

}

}

Write what will happen after each call of play() in the following method.

public static void main(String[] args) { \ \ o qu. {
Cat a = new Cat("Cream", "Meow!"); N&Q}f\ ‘ T ™ O fu !
Cat b = new Cat("Tubbs", "Nyan!"); N%lﬂ\f 'L\M T‘*&D {1‘ Cq:{-l
a.play(Q);
b.play(); ‘

. -
Cat.anger(); (\%V\‘, S_ ‘'t me 4\1(- Cot)
a.calm();
a.play(); -th Coff‘
\ \

b.playO); nygant Tle Tubbs _



Scope, Pass-by-Value, Static 3

ractice with Linked Lists

Draw the box-and-pointer diagram that results from running the following code. A
StringlList is similar to an IntList. It has two instance variables, first and rest.

1 Stringlist L = new StringlList("eat", null); Q‘\EQO\_,\L

~N
2 L = new StringlList("shouldn't", L);

3 L = new StringlList("you", L); \\G\l\jQ

4 L = new StringlList("sometimes", L);

5 Stringlist M = L.rest;

6 StringlList R = new StringList("many", null); i ([\Q:Q'
7 R = new StringlList("potatoes", R);

8 R.rest.rest = R;

9 M.rest.rest.rest = R.rest;

1 L.rest.rest = L.rest.rest.rest;

11 L = M.rest;



